( ] FEH A B ( )
e 3A2—2

L
?‘ ﬁa - \ \
s [ROFHE] @FERORE: - BIEE)
£ O K4
M (1] #8Z L, [2] OBEERSEELL I,
b o .3 e b8
. ' 7 e a 7 A
\ ‘\\\ /’/ 2 ::, ]7 -
. b+3 '
[1] [2]
EHEOHmEIL EHEOmEEIL
1. fexs ks ad+3) 1. fitxkE TRDD &
2. 74+4 TkR®HDHE  ab+3a
Lo THRORDER Y S75
a(b+3) = ab+3a 2. THA+w+xT TRHDHE
Lo TRORDER Y 375

OSBOERI R - T RO E R L7 S0,
(1) 3a(5a—2b)

(2) (x+3) (y—2)

(8) (a+b) (c—d)

(4) (—a+5) (3x+7)



[ ] ﬁi% REEREE 3A2—2

U% [ROFHE] @SERDORE - RIEEQ) 7
£ M K4

(Point) DESERIDIESS

(a+b) (c—d) = ac—ad-+bc—hbd
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L. HEXB ORDL L - (@+2) (b+3)

2. 7+A4+v+x TKRDDHE | - ab+3a+2b+6

Ko TROAD Y 325 —  (a+2) (b+3) = ab+3a+2b+6

(1) 3a(Ga—2b) = 15a2—6ab
(2) x+3) (y—2) = xy—2x+3y—6
(3) (at+b) (c—d) = ac—ad+bc—bd

(4) (—a+5) (Bx+7) = —8ax—T7a+15x+35
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